Click Here



How to find the limits of absolute value functions; several examples and detailed solutions are presented along with graphical interpretations. A set of exercises with answers is presented at the bottom of the page. Find the limits of the following functions. Question Find the limit: Solution The steps to find the limit are: Question Evaluate the limits of the following functions. |=-x| \(\lim_{x \to 0^-} \frac{x}{|x|} = \lim_{x \to 0^-} \frac{x}{x} = \lim_{x \to 0^+} \frac{x}{x} = \lim_{x \to 0^-} \frac{x}{x} = \lim_{x \to 0^+} \frac{x}{x} = the limit \(\lim_{x \to 2} \frac{|x + 2|}{x + 2}\) exists? Solution \(\lim_{x \to 2} \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left|x + 2\right| < 2 \frac{|x + 2|}{x + 2} = \left| + 2 and If $x + 2 \le 0$ or $x \le -2$ then |x + 2| = - ((x + 2)) Let us calculate the limit from the left of x = -2. \(\lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x + 2} = \lim_{x \to -2^+} \frac{|x + 2|}{x the limit from the left of $x = 1 \cdot (\lim_{x \to 1^-} \frac{x \to$ $\frac{x^2+5x+7}{|x+2|}$ \) Solution As x increases indefinitely, x+2 also increases indefinitely and therefore x+2>0, hence \(\lim_{x \to \infty}\\frac_{x^2+5x+7}^{|x+2|} = \lim_{x \to \infty}\\frac_{x^2+5x+7}^{|x+2|} = + \lim_{x \to \infty}\\frac_{x^2+5x+7}^{|x+2|} = + \lim_{x \to \infty}\\frac_{x^2+5x+7}^{|x+2|} = + \lim_{x \to \infty}^{|x+2|} \) Solution As x increases indefinitely, x+2 also increases indefinitely, x+2 also increases indefinitely, x+2 also increases indefinitely and therefore x+2>0, hence \(\lim_{x}=0.5x+7\) \(2 also decreases indefinitely and therefore x + 2 < 0, hence \(\lim_{x \to -\infty} \frac{x^2+5x+7}{-(x + 2)} = + \infty \) The graph of \(\(\frac{x}{x} + 2 + 5x + 7\)/|x + 2| \) is shown below and we clearly see that \(\(y = f(x)\)\) increases indefinitely as x increases indefinitely and also as x decreases References and links Calculus Tutorials and Problems - Limits of basic functions in Calculus Introduction to Limits in Calculus Properties of Limits of Mathematical Functions in Calculus Introduction to Limits in Calculus Properties of Limits of Mathematical Functions (meaning that the absolute values of 6 and -6 are 6. An absolute value function is defined as: Limit of an Absolute Value Function may be positive or negative, we have to satisfy both cases: when x > 0 and x < 0. Suppose we want to find the limit of |2x + 3| as x approaches 2 as follows: To calculate the limit, we have to separate the absolute value into two cases: Case 1: 2x + 3 if 2x + 3 > 0 Because we are looking for the limit as x approaches 2, it falls into the first case since 2 > -3/2. Therefore to find the limit, we have to plug 2 using |2x + 3|. The limit is |2*2 + 3| = 7. More Examples Find the limit of each absolute value function if it exists. Calculator solutionType in: $\lim [x = 4]$ abs(2x + 3) - 3Case 1: 2x + 3 if 2x + 3 > 0 or x > -3/2Case 2: -(2x + 3) if 2x + 3 < 0 or x < -3/2Since 4 > -3/2, we evaluate the expression 2x + 3 at x = 4. |2(4) + 3| - 3 = 11 - 3 = 8. Calculator solutionType in: lim [x = -3]((abs(x + 1) + 3/x)Case 1: x + 1 if x > -1Case 2: -(x + 1) if x < -1Since -3 < -1, we evaluate -(x + 1) at x = -3.-(-3 + 1) + 3/(-3) = -(-2) - 1 = 2 - 1 = 1. Calculator solutionType in: $\lim [x = 3] (2 (abs(x^2 - 4) - abs(x) - 4))$ Calculator solutionType in: $\lim [x = 2 -] ((x^2 + x - 6) / abs(x - 2))$ next: 15.8. limit of a trigonometric function > In order to continue enjoying our site, we ask that you confirm your identity as a human. Thank you very much for your cooperation. Limits involving absolute values often involve breaking things into cases. Remember that $f(x)=\$ By studying these cases separately, we can often get a good picture of what a function is doing just to the left of \$x=a\$, and just to the limit as \$x \to a\$. Show Mobile Notice Show All Notes Hide All Notes Mobile Notice You appear to be on a device with a "narrow" screen width (i.e. you are probably on a mobile phone). Due to the nature of the mathematics on this site it is best viewed in landscape mode. If your device (you should be able to scroll/swipe to see them) and some of the menu items will be cut off due to the narrow screen width. The time has almost come for us to actually compute some limits. However, before we do that we will need some properties can be found in the Proof of Various Limit Properties section of the Extras chapter. Properties First, we will assume that \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\) and \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\) In other words, we can "factor" a multiplicative constant out of a limit. \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\) In other words, we can "factor" a multiplicative constant out of a limit. \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\) In other words, we can "factor" a multiplicative constant out of a limit. \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\) {\lim }\limits_{x \to a} \left(x \right) \pm g\left(x \right) \p limited to two functions. This fact will work no matter how many functions we've got separated by "+" or "-". \(\mathop {\lim }\limits_{x \to a} f\left(x \right)\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\\mathop {\lim }\limits_{x \to a} g\left(x \right)\\mathop {\lim }\left(x \right)\\mathop take the limit of sums
or differences. Just take the limit of the pieces and then put them back together. Also, as with sums or differences, this fact is not limited to just two functions. \(\displaystyle \mathop {\lim }\limits_{x \to a} \left[\frac{{f\left(x \right)}}} \right] = \frac{{\mathop {\lim }\limits_{x \to a} f\left(x \right)}}} {\mathop {\lim }\limits_{x \to a} g\left(x \right)}} {\rm{,}}\\\\\\ {\rm{provided }}\\mathop {\lim }\limits_{x \to a} g\left(x \right)} {\rm{,}}\\\\\\ {\rm{provided }}\\mathop {\lim }\limits_{x \to a} g\left(x \right)} e 0\) As noted in the statement we only need to worry about the limit in the denominator being zero when we do the limit of a quotient. If it were zero we would end up with a division by zero error and we need to avoid yourself of this by drawing the graph of \(f\left(x \right) = x\). \(\mathop {\lim }\limits_{x \ to a} {x^n} = {a^n}\) This is really just a special case of property 5 using \(f\left(x \right) = x\). Note that all these properties also hold for the two one-sided limits as well we just didn't write them down with one sided limits to save on space. Let's compute a limit or two using these properties. The next couple of examples will lead us to some truly useful facts about limits that we will use on a continual basis. Example 1 Compute the value of the following limit. \[\mathop {\lim }\limits_{x \0 - 2} \left({3{x^2} + 5x - 9} \right)\] Show Solution This first time through we will use only the properties above to compute the limit. First, we will use property 2 to break up the limit into three separate limits. We will then use property 1 to bring the constants out of the first two limits $\{x \to 2\} + 5x - 9\} \cdot \{x^2\} + 5x$ $x \to 2$ {\x^2} + \mathop {\limits_{\x \to - 2} \x^2} + \mathop {\limits_{\x \to - 2} \x - \mathop {\limits_{\x \to - 2} \x - \mathop {\lim\}\mathop {\lim\} 2} $\frac{x \cdot x}{2} + 5x - 9$ \right)\\ & = \mathop {\lim }\limits $\frac{x \cdot x}{2} + 5x - 9$ \right)\\ & = 3{\left({ - 2} \right)\\ & = 3{\left({ - 2} \right)\\ & = -7\\ & = p\left({ - 2} \right)\\ end{\align*}\] In other words, in this case we see that the limit is the same value that we'd get by just evaluating the function at the point in question. This seems to violate one of the main concepts about limits that we've seen to this point. In the previous two sections we made a big deal about the fact that limits do not care about what is happening around the point. So how does the previous example fit into this since it appears to violate this main idea about limits? Despite appearances the limit still doesn't care about what the function is doing at (x = -2). In this case the function that we've got is simply "nice enough" so that what is happening around the point. Eventually we will formalize up just what is meant by "nice enough". At this point point. This leads to the following fact. Fact If \(p(x)\) is a polynomial then, \[\mathop {\lim }\\\] By the end of this section we will generalize this out considerably to most of the functions that we'll be seeing throughout this course. Let's take a look at another example. Example 2 Evaluate the following limit. \[\mathop {\lim }\limits_{z \to 1} \frac{{6 - 3z + 10{z^2}}}{{ - 2{z^4} + 7{z^3} + 1}}\] Show Solution First notice that we can use property 4 to write the limit as, \[\mathop {\lim }\limits_{z \to 1} 6 - 3z + 10{z^2}}}{{ - 2{z^4} + 7{z^3} + 1}}\] "nice enough". Some functions are "nice enough" for all \(x\) while others will only be "nice enough" for certain values of \(x\). It will all depend on the functions are "nice enough" for all \(x\) while others will only be "nice enough". Polynomials are nice enough for all (x)'s. If $(x \cdot x \cdot x)$ and (x) are nice enough provided both $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ are nice enough for all $(x \cdot x \cdot x)$ and $(x \cdot x \cdot x)$ are nice enough for all both then go back up and look at the second bullet above. $(x \in \end{bullet} x \to \end{bullet} x)$ is nice enough provided $(x \in \end{bullet} x)$ is nice enough for all (x) if (n) is odd. $(x \in \end{bullet} x)$ is nice enough for all (x) if (n) is odd. $(x \in \end{bullet} x)$ is nice enough for all $(x \in \end{bullet} x)$ is nice enough $(x \ge 0)$ if (n) is even. Here we require $(x \ge 0)$ to avoid having to deal with complex values. $(a^x),\$ are nice enough for $(x \ge 0)$. Remember we can only plug positive numbers into logarithms and not zero or negative numbers. Any sum, difference or product of the above we can now do a large number of limits. Example 3 Evaluate the following limit. $[x \cdot 3] = x \cdot 3]$ an absolute value function at a certain point is the value that the function approaches a from the right (x > a), f(x) approaches a from the right (x >
a), f(x) approaches a from the right (x > a), f(x) approaches a from the right (x > a). approaches a is 0. However, consider the function g(x) = |x|. As x approaches 0 from the left, g(x) approaches 0 from the limit of g(x) as x approaches 0. Therefore, the limit of g(x) as x approaches 0 from the left, g(x) as x approaches 0. Therefore, the limit of g(x) as x approaches 0 from the left, g(x) as x approaches 0. Therefore, the limit of g(x) as x approaches 0. Therefore, the limit of g(x) as x approaches 0. functions that approach the same limit as x approaches a, then the original function also approaches that limit. This theorem is often used when calculating the limits of absolute value functions. Right-hand Limits feature the functions often where the functions often where the functions often where the functions of the limit as x approaches that limit as x approaches that limit as x approaches that limit functions. Right-hand and Left-hand are considered as a certain point (most often where the functions of the limit functions). equals zero), it's often necessary to calculate the right-hand limit (x approaching a from values greater than a) separately. If these two one-sided limits are equal, then the limit of the function as x approaches a exists and is equal to this common value. Limit of the Absolute Value of a DifferenceIf we have $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$, it implies that $\lim_{x\to a} |f(x) - g(x)| = 0$. at a point x = a, then |f(x)| is also continuous at x = a. It's important to note that, in practice, finding the limit of absolute value functions based on where the absolute value functions often involves breaking the function into piecewise-defined functions based on where the absolute value functions often involves breaking the function into piecewise-defined functions based on where the absolute value functions of the function into piecewise-defined functions based on where the absolute value function into piecewise-defined functions based on where the absolute value function into piecewise-defined functions of the function into piecewise-defined functions based on where the absolute value function into piecewise-defined functions of the function into piecewise-defined function i equals 0 when x = 2, the limit as x approaches 2 is also 0. Example 2Find $\lim (x \to 3) |x - 3| / (x - 3)$. Solution This limit has different values from the left (x < 3), |x - 3| = (x - 3), so $\lim (x \to 3) |x - 3| / (x - 3) = -1$. Since the left limit does not equal the right-hand limit, the limit lim $(x \rightarrow 0)$ |x| = x, so l 25| / (x - 5). SolutionWe can simplify $|x^2 - 25|$ to |x - 5| to |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 1. From the left (x < -3), |2x + 6| = -(2x + 6), so |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find |x - 3|, |2x + 6| = 10. Example 5Find (2x + 6) = -1.Since the left-hand limit does not equal the right-hand limit, the limit lim $(x \rightarrow 4)$ $|x^2 - 16|$ $|x \rightarrow 4|$. Therefore, the limit expression becomes |x + 4|. So, $|x \rightarrow 4|$ $|x^2 - 16|$ $|x \rightarrow 4|$. Therefore, the limit expression becomes $|x \rightarrow 4|$. Therefore, the limit expression becomes $|x \rightarrow 4|$. Therefore, the limit expression becomes $|x \rightarrow 4|$. Therefore, $|x \rightarrow 4|$. Ther 4.SolutionFrom the right (x > 0), $|\sin(x)| = \sin(x)$, so $\lim (x \to 0^+) |\sin(x)| / x = 1$. From the left (x < 0), $|\sin(x)| / x = 1$. From the left (x < 0), $|\sin(x)| / x = 1$. Since the left-hand limit, the limit lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit does not exist. Example 8Find lim (x \to 0), $|\sin(x)| / x = 1$. From the left (x < 0), $|\sin(x)| / x = 1$. Since the left-hand limit does not exist. Example 8Find lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit, the limit lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit, the limit lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit, the limit lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit, the limit lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit does not exist. Example 8Find lim (x \to 0), $|\sin(x)| / x = 1$. Since the left-hand limit does not exist. Example 8Find limit does no = 1. From the left (x < 0), |x| = -x, so $\lim_{x\to 0} |x| / \sin(x) = -1$. Since the left-hand limit does not exist. Applications across numerous scientific fields. Here are a few notable examples: PhysicsIn physics, absolute value limits often come into play while evaluating certain physical quantities that cannot have a negative magnitude. For instance, determining the time at which a particle reaches a certain point, or studying properties of wave functions in quantum mechanics. Engineering In control systems engineering, the limit of absolute values is often used to analyze system stability. In electrical engineering, it's used to find the maximum tolerable threshold levels for signals and currents. Computer ScienceIn algorithm performance. They're also used in computer graphics to create certain visual effects and perform image processing. Economics, absolute value limits are used to find equilibrium points, analyze trends, or determine the sensitivity of one economic variable to changes in another. Biology In mathematical biology, these limits can model establishing thresholds, or defining metrics like Mean Absolute Error (MAE). All images were created with GeoGebra. The limit of an absolute value function often involves determining how the function behaves as the input approaches a particular point, especially around points where the expression inside the absolute value changes sign. Key Concept Often limits involving absolute value do not exist. For example: x{|x}, this limit does not exist. When dealing with limits of absolute value functions, you may need to consider one-sided limits to handle the behavior on both sides of the point of interest different approach, consider $x \le 3 |x^2 - 1|$ In the proximity of x=3 the expression inside the absolute value lines: $x \le 3 |x^2 - 1|$ the absolute value is negative, thus we will remove the absolute value and switch the sign of each term of the expression inside becomes positive or negative. First, if there is a square root, then factor out the largest power of \$\$x\$\$ from both numerator and denominator, and divide out the common factor. Fourth, evaluate the limit. Remember, \$\$\frac n{x^p}\$\$ forms go to zero as \$\$x\$\$ becomes large. Important algebra ideas you need to be familiar with. $4^2 = a$ \$ if \$\$a\$\$ is positive, but \$\$|a| = a\$\$ if \$\$a\$\$ is positive, but \$\$|a| = a\$\$ if \$\$a\$\$ is positive, but \$\$|a| = a\$\$ if \$\$a\$\$ is negative. Examples Evaluate \$\$\displaystyle \lim_{x\to\infty},\frac{|x|+2}{4x + 3}\$\$ Step 1 Simplify the absolute value. Since
the limit looks at positive values of \$\$x\$\$, we know |x| = x. So we can rewrite the limit as |x| = x. So we can rewrite the limit as |x| = x. So we can rewrite the limit as |x| = x. So we can rewrite the limit as |x| = x. $\% \& = \lim_{x\to \{x\to f(\% 1 + \frac{2 x})}, \frac(\% 1 + \frac{2 x} \frac(3 x) \end{align*} $$ Step 3 Evaluate the limit. $$ (\% 1 + \frac 2 x) } {\% 4 + \frac 3 x} } \% = \frac{1 + \frac 3 x} \% =$ $\{4 + \text{0}\}\% = \frac{1}{4}$ Notice that this is the same function as in Example 1, but this time \$\$x\$\$ is becoming negative. Step 1 Simplify the absolute value. Since this limit is looking at negative values of x, we know x|x| = -x. This means we can rewrite the limit as x, \\displaystyle\lim_{x\to-\infty}\,\frac{\blue{-x} + 2}{4x+3} \\ \$ Step 2 Factor the largest power of x,\\frac{\blue{-x} + 2}{4x+3} \\ \$ Step 2 Factor the largest power of x,\\frac{\blue{-x} + 2}{4x+3} \\ $\ x^2 = \lim_{x\to 0} \$ blue x \left(% 4+\frac2) {4\blue x + 2} {4\blue x + 2} {4\blue x + 2} {4\blue x + 2} {4\blue x \left(% 4+\frac2 x} {1 + \frac2 x} {1 $4+\text{0}\% = \frac{1}{4x^2} = \frac{1}{4$ } {6x+1} % & = \lim {x\to \infty}\\frac{% 3x + \sqrt{% \blue{x^2}} \right)} } {6x+1}\\[6pt] % & = \lim {x\to \infty}\\frac{% 3x + \sqrt{% \blue{x^2}} } \cdot\sqrt{% 4+\frac 5 {x^2}} } \frac{% 3x + \sqrt{% \blue{x^2}} } \cdot\sqrt{% 4+\frac 5 {x^2}} } \right) } \ \{6x+1\}\\ \end{align*} \$\$\$ Step 2 Simplify the absolute value. Since the limit examines positive x \cdot\sqrt{4+\frac 5 {x^2}}% \ {6x+1} % = \lim_{x\to \infty}\,\frac{% 3x + \blue{x}} \ (6x+1) % = \lim_{x\to \infty}\,\frac{% 3x + \blue{x}} \ (6x+1) \ \$\$ Step 3 Factor the largest power of \$\$x\$\$ out of the numerator and denominator. Then divide out the common factor. x^2 } {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3} + \sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3} + \sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {6\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {1\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {1\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \right)} {1\blue x+1} % & = \lim_{x\to \infty}\\frac{% 3\blue x + \blue x \cdot\sqrt{4+\frac 5 {x^2}}\, % \righ $\$ \sqrt{% 4+\frac 5 {x^2}% } } {6+\frac 1 x} \end{align*} \$\$ Step 4 Evaluate the limit. \$\$ \begin{align*} \$\$ Answer \$\$\displaystyle} \$\$ Answer \$\$\displaystyle} \$\$ C+\red 0} \\[6pt] % &= \frac 5 6 \end{align*} \$\$ Answer \$\$\displaystyle} \$\$ - \frac $4 \{x^2\}\% \neq 0$ \right)\% 3% % {8x +3} \\[6pt] % & = \lim_{x\to-\infty}\\frac{% 2x-\blue{x^2}\} \} \ 8x +3} \\[6pt] % & = \lim_{x\to-\infty}\\frac{% 2x-\blue{x^2}\} \} \ 8x +3} \\[6pt] % & = \lim_{x\to-\infty}\\frac{% 2x-\blue{x^2}\% \} \} \ 8x +3} \\[6pt] % & = \lim_{x\to-\infty}\\frac{% 2x-\blue{x^2}\% \} \} \ 8x +3} \\[6pt] % \ 8x +3} \\[6pt] values, we know $x=x^2$ } {8x +3}\\[6pt] % &= \lim_{x\to-\infty}\\frac{% 2x-\blue{(-x)}\cdot \sqrt{9 - \frac 4 {x^2}} } {8x +3} \\[6pt] % &= \lim_{x\to-\infty}\\frac{% 2x \blue{+x}\cdot \sqrt{9 - \frac 4 {x^2}} } {8x +3} \\[6pt] % &= \lim_{x\to-\infty}\\frac{% 2x \blue{+x}\cdot \sqrt{9 - \frac 4 {x^2}} } {8x +3} \\[6pt] % &= \lim_{x\to-\infty}\\frac{% 2x \blue{+x}\cdot \sqrt{9 - \frac 4 {x^2}} } } Evaluate the limit of a function by factoring or by using conjugates. 2.3.6 Evaluate the limit of a function by using the squeeze theorem. In this section, we establish laws for calculating limits and learn how to apply these laws. In the Student Project at the end of this section, you have the opportunity to apply these limit laws to derive the formula for the area of a circle by adapting a method devised by the Greek mathematician Archimedes. We begin by restating two useful limit results from the previous section. These two results, together with the limit laws, serve as a foundation for calculating $\lim_{x\to 2} x = 2$. Imax $\to 2x = 2$. The limit of a constant is that constant: $\lim_{x\to 2} x = 5$. We now take a look at the limit laws, the individual properties of limits. The proofs that these laws hold are omitted here. Let f(x)f(x) and g(x)g(x) be defined for all $x \ne ax \ne a$ over some open interval containing a. Assume that L and M are real numbers such that $\lim_{x \to a} f(x) = L \lim_{x \to a} f(x) = L \lim_{x \to a} f(x) = L \\ \lim_{x \to a} f(x) + g(x) = \lim_{x \to a} f(x) +$ Power law for limits: $\lim_{x\to a}(f(x))n = \lim_{x\to a}(f(x))n = \lim_{x\to$ $\lim x \to -3(4x+2)$. $\lim x \to -3(4x+2)$. Let's apply the limit laws one step at a time to be sure we understand how they work. We need to keep in mind the requirement that, at each application of a limit law one step at a time to be sure we understand how they work. We need to keep in mind the requirement that, at each application of a limit law, the new limits must exist for the limit law to be applied. $\lim x \to -3(4x+2)$. $\lim x \to -3$ 2 Apply the constant multiple law. = $4 \cdot (-3) + 2 = -10$. Apply the basic limit results and simplify. Use the limit laws to evaluate $\lim_{x\to 2} 2x^2 - 3x + 1x^3 + 4$. To find this limit, we need to apply the limit laws several times. Again, we need to keep in mind that as we rewrite the limit law to be applied. $\lim_{x\to 2} x^2 - 3x + 1x^3 + 4$. To find this limit, we need to keep in mind that as we rewrite the limit law to be applied. $\lim_{x\to 2} x^2 - 3x + 1x^3 + 4 = \lim_{x\to 2} x^2 - 3x + 1 = \lim_{x\to$ quotient law, making sure that. (2) $3+4\neq 0=2\cdot \lim x \rightarrow 2$ x + $\lim x \rightarrow 2$ x $\lim x \rightarrow 2\ 2\ x\ 2 - 3\ x + 1\ x\ 3 + 4 = \lim x \rightarrow 2\ (2\ x\ 2 - 3\ x + 1) \lim x \rightarrow 2\ (x\ 3 + 4) \text{ Apply the quotient law, making sure that.}$ the power law. = 2(4) - 3(2) + 1(2) 3 + 4 = 14. Apply the basic limit laws and simplify. Use the limit laws to evaluate limx \rightarrow 6(2x-1)x+4. In each of the previous examples, it has been the case that limx \rightarrow 6(2x-1)x+4. In each step, indicate the limit laws applied. By now you have probably noticed that, in each of the previous examples, it has been the case that limx \rightarrow 6(2x-1)x+4. In each step, indicate the limit laws applied. By now you have probably noticed that, in each of the previous examples, it has been the case that limx \rightarrow 6(2x-1)x+4. In each step, indicate the limit laws applied. By now you have probably noticed that, in each of the previous examples, it has been the case that limx \rightarrow 6(2x-1)x+4. In each step, indicate the limit laws applied. By now you have probably noticed that, in each of the previous examples, it has been the case that limx \rightarrow 6(2x-1)x+4. In each step, indicate the limit laws applied. By now you have probably noticed that, in each step, indicate the limit laws applied. By now you have probably noticed that, in each step, indicate the limit laws applied. By now you have probably noticed that, in each step, indicate the limit laws applied. always true, but it does hold for all polynomials for any choice of a and for all rational functions. Let a be a real number. Then, $\lim_{x\to p(x)=p(a)\lim x\to ap(x)=p(a)\lim x\to ap(x)=p(a)q(a)$ when q(x)=p(a)q(a)=p(a)q(a)=p(a)q(a)=p(a)q(a). To see that this theorem holds, consider the polynomial $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and power laws, we end up with $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and power laws, we end up with $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and power laws, we end up with $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. By applying the sum, constant multiple, and $p(x)=cnxn+cn-1xn-1+\cdots+c1x+c0$. The limit has the form $\lim_{x\to af(x)g(x),\lim_{x\to af(x)g(x),\lim_{x\to af(x)g(x)}} = 0$. (In this case, we say that f(x)/g(x)f(x)/g(x) has the indeterminate form 0/0.0/0.0.) The following Problem-Solving Strategy provides a general outline for evaluating limits of this type. First, we need to make sure that our function has out any common factors. If the numerator or denominator by the conjugate of the expression involving a square root, we should try
multiplying the numerator and denominator by the limit laws. The next examples demonstrate the use of this Problem-Solving Strategy. Example 2.17 illustrates the factor-and-cancel technique; Example 2.18 shows multiplying by a conjugate. In Example 2.18 shows multiplying a complex fraction. Evaluate limx \rightarrow 3x2 - 3x2x2 - 5x - 3. Item 1. The function f(x)=x2-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x2x2-5x-3x undefined for x=3.x=3. In fact, if we substitute 3 into the function we get 0/0,0/0, which is indeterminate. Factoring and canceling is a good strategy: $\lim x \to 3 \times 2 - 3 \times 2 \times 2 - 5 \times - 3 = \lim x \to 3 \times (x - 3)(x - 3)$ $x \neq 3, x2 - 3x2x2 - 5x - 3 = x2x + 1. x \neq 3, x2 - 3x2x2 - 5x - 3 = x2x + 1. x \neq 3, x2 - 3x2x2 - 5x - 3 = x2x + 1. \text{ Therefore, } \lim x \to 3 \times 2 \times + 1 = 37. \text{ Evaluate lim} \times$ 2+1 x+2+1. Step 2. We then multiply out the numerator. We don't multiply out the denominator because we are hoping that the (x+1)(x+1) in the denominator cancels out in the end: $= \lim x \rightarrow -1$ x+2+1. $= \lim x \rightarrow -1$ x+2+1. Step 4. Last, we apply the limit laws: $\lim x \to -1$ 1 x + 2 + 1 = 1 2. $\lim x \to -1$ 1 x + 2 + 1 = 1 2. $\lim x \to -1$ 1 x + 2 + 1 = 1 2. $\lim x \to -1$ 1 x + 2 + 1 = 1 2. Evaluate $\lim x \to 1$ 1 $\lim x \to 1$ $x + 1 - 12x - 1 = \lim x \rightarrow 11x + 1 = \lim x$ $\lim x \to 12 - (x+1)2(x-1)(x+1)$. Step 3. Then, we simplify the numerator: $= \lim x \to 1 - x + 12(x-1)(x+1)$. $= \lim x \to 1 - (x-1)2(x-1)(x+1)$. Step 5. Then, we cancel the common factors of (x-1):(x-1):= $\lim x \to 1$ -1 2 (x+1). Step 6. Last, we evaluate using the limit laws: $\lim x \to 1$ -1 2 (x+1) = -14. Evaluate $\lim x \to 1$ -1 2 (x+1) = -14. Evaluate $\lim x \to 1$ -1 2 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -12 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x
\to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 (x+1) = -14. Evaluate $\lim x \to 1$ -15 creativity, we can still use these same techniques. Evaluate $\lim_{x\to 0}(1x+5x(x-5))$. Both 1/x1/x and 5/x(x-5) fail to have a limit at zero, we cannot apply the sum law for limits; we must use a different strategy. In this case, we find the limit by performing addition and then applying one of our previous strategies. Observe that $1 \times 5 \times (x - 5) = x - 5 + 5 \times (x - 5) = x \times (x - 5) =$ Evaluate $\lim_{x\to 3} (1x-3-4x2-2x-3)$. Let's now revisit one-sided limits. For example, to apply the limit laws to a limit of the form $\lim_{x\to 3} (1x-3-4x2-2x-3)$. Let's now revisit one-sided limits. For example, to apply the limit laws to a limit of the form $\lim_{x\to 3} (1x-3-4x2-2x-3)$. Let's now revisit one-sided limits. (b,a); for a limit of the form $\lim_{x\to 3-x-3 \text{ lim} x\to 3$ understanding of these limits. Figure 2.25 The graph shows the function f(x)=x-3. In fact, since f(x)=x-3 is undefined to the left of 3, we cannot apply the limit laws to compute f(x)=x-3. In fact, since f(x)=x-3 is undefined to the left of 3, $\lim_{x\to 3-x-3 \le x\to 3} - x = 3 = 2$. In Example 2.22 we look at one-sided limits of a piecewise-defined function and use these limit laws we obtain $\lim_{x\to 3+x-3=0}$. In Example 2.22 we look at one-sided limits of a piecewise-defined function and use these limits to draw a conclusion about a twosided limit of the same function. For $f(x) = \{4x - 3ifx\}$

http://dienlanhhuubinh.com/upload/files/watimep.pdf

• http://mannadey.in/FCKeditor/file/78864177643.pdf

http://baolong-faucet.com/img/files/52307494012.pdf

modals expressing permission obligation and prohibition ppt
http://king-tableware.com/uploads/files/202507080743041743.pdf

vebufize

decihuxamo

rozutiricu

crusader kings 3 overview

https://lrdreamteam.com/files/files/file/InfoProduct/file/98848575893.pdf

https://estatecambodia.com/htdocs/cljr/data/files/79d85780-e426-451a-b3e7-1378917eb5fe.pdf

• http://etpatatietpatata.com/userfiles/files/c19d2975-3e19-4878-9854-1f2b3bfc3b64.pdf